
Maths	Answers	–	14.1.21	



Independent	Prac5ce	(1)	



Independent	Prac5ce	(2)	



Independent	Prac5ce	(3)	

3	x	6	x	5	=	90	 	5	x	3	x	6	=	90			 	 	5	x	6	x	3	=	90	
6	x	3	x	5	=	90	 	6	x	5	x	3	=	90										
They	all	have	the	same	answers	because	all	the	calcula5ons	use	
the	same	numbers	which	we	can	mul5ply	in	any	order	and	will	
always	get	the	same	answer.	



Independent	Prac5ce	(4)	



Challenge		

Krishna says, 
8 x 7 x 2 

is more than 2 x 7 x 8. 
This is because it begins with 

8 x 7 which makes a larger 
number than 2 x 7 in the 

second calculation.  

Is Krishna correct? Explain your answer. 
No – Krishna is not correct. Both calculations feature the same three digits and we 
know that we can multiply numbers in any order and still get the same answer. 
8 x 7 = 56 and 56 x 2 = 112, so calculation 1 is equal to 112. 
2 x 7 = 14 and 14 x 8 = 112, so calculation 2 is also equal to 112.   


